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$RI7E05 5158 RIREHE 302, 300kg
HxR IRSEME S 248, 800kg
EX1= REMES | REHE g FiEH =2 By (REHE BRES%E
(kg) (kg) =1E B =&

Bl A 16,000 | Y 0 — — —
A% ER 3| FEE 10kg 16,000/ 1,512 —1{ 1,080

ZA LA 20,000 [&Y 0 __ __ —_
X ER 5| FHEE 10kg 20, 000 —| 3,240 —

(< &L 10,000 |&Y 0 — — —
A% ER 3| B3 12kg 10,000 1,404 — 756

FoRY 28,000 [t Y 0 — — —
X ER S| IR 10kg 28,000 1,404 — 756

F5NAZES 5,800 |€Y 0 _ __ ___
A% ER 3| N 200 g 5, 800 108 — 86

h& 9,500 |&Y 0 — — —
Xt ER 5| AR bke 9,500 2,484 —| 1,296

25 4,000 |&Y 0 — — —
A% ER 3| N 100 g 4,000 — 65 —

L& R 25,000 [t Y 0 __ __ —_
Xt ER 5| KB 10kg 25,000| 2,160 — 1,944

EpSY 6,000 |t Y 0 _ __ ___
A% ER 3| N Sk 6, 000 —| 1,944 —
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2Rl 5% 302, 300kg

Hx fR5e 8= 248, 800kg
F&E RFEHMELT | TEAE B |REHE

(kg) (kg)

o k= 0 |&Y 0
HAXTE S| 0
L AEL 1,000 &Y 0
HE*TE S| 190 g 1,000
AZDE=T 1,500 |&UY 0
Bt ER5| 200 g 1,500
G1)—2TF RIND 1,200 &Y 0
HE*TE S| 100 g 1,200
SE 0 |[EY 0
HAXTE S| 0
SPZAED 0 (&Y 0
FEXTEL S 0
H=——LA R 1,200 |&Y 0
Bt ER5| 4kg 1,200
Sl Nl 3,000 |[&#Y 0
HE*TE S| 200 g 3,000
ES58A2L 0 |[EY 0
HAXTE S| 0




FHRERHRRETHE FRHR

SH7E05 A/ 15H N bt 302, 300kg
Fx IREHESE 248, 800kg
F&E IRFEMEET | REAE FRiE FEH Fihk Bir |REHRE AR5t %8
(kg) (kg) BiE | hiE | RE
Jowyal)— 4,000 (&Y 0 — — —
HAxTERS| HF N bkg 4,000 — 3,456 -—
T D EFx 50,000 |&Ai& — 90, 000 -— -— S
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RERFTEHE 302, 300kg
R=E IREHESE 48, 500kg
EXT= BRFTHES | REAE mig T Eh & By |BREHE AR5E& %58
(kg) (kg) =1{E HE ={E

HDNA 0 |[#Y 0 — — —
PO E] 0 B —
YAl 5,000 |[€Y 0 — — —
RV E] AL EHE 10kg 5,000 -—| 7,020 -
WsZ 20,000 |[€Y 0 — __ __
HAXTE S| N 210 g 20, 000 — 270 —
JL—7I71L—Y 500 (€Y 0 — — ——-
RV E] F—RSUT 17kg 500 -—| 7,020 -

NFF 3,000 |&Y 0 ——- —- —-
XA S| J4UEY 13kg 3,000| 3,888 -—| 3,240

LEY 500 | Y 0 — — —
RV E] TAYH 17kg 500 -——| 7,560 -

A0y 7,500 |[€Y 0 ——- —- —-
XA S| 7—ILR BRI 2 9kg 7,500 ——| 21,600 —

ENAY:N 500 |&UY 0 — — —
RV E] REARR 15kg 500 -—| 8,100 -

TLoe 500 |&Y 0 ——- —- —-
XA S| TAYH 17kg 500 ——| 8,640 —
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PHTFRSI5E LR NE 302, 300kg
RE RFCHEAE 48, 500kg
TRE EEMEH | REAE ofE T = | B |BENE AL

(kg) (kg) =iE th{E it
IRAUT 9T 1,000 |y of | O =
A%t ERE| J4UEY 10kg 1.000] —| 430 @ —
ZDOMEE 10,000 |&Ak - 0000 —  — —
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{AERE M E 302, 300kg
Z Dt REME AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




